
Treading on Sacred Ground
Behavioral-Style Evaluation

Plotting on the Behavioral Grid

1. Count the number of “S” and “C” responses. 
(together should total 9)

2. Do the same for the “D” and “I” responses. 
(together should total 9)

3. Subtract the number of “C” responses from the 
number of “S” responses. (may equal a negative 
number)

4. Do the same for the “D” and “I” responses. (may 
equal a negative number)

5. Make an “X” on the vertical line corresponding to 
the difference between your “S” and “C” totals. 
(If between +1 thru +9 place “X” on the “S” 
portion, if between -1 thru -9 place “X” ont he “C” 
portion of the vertical line.)

6. Make an “X” on the horizontal line corresponding 
to the difference between your “I” and “D” totals. 
(If between +1 thru +9 place “X” on the “D” 
portion, if between -1 thru -9 place “X” ont he “I” 
portion of the vertical line.)
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Plotting Directions

7. Make a check mark at the intersection of the two 
plotted points.
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